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OLQtEMU X 36,000,000& 36,000
O2z0z4 H842J X2 2,500,000& 2,500
OE2024 F=Had HEAY 20,000,000 20,000
Ol oY u=s 3,200,000 3,200
Oko HitdE FAMI 1,150,000& 1,150
OostudE HEstsd 24 600,000 600
OkLeEs Jl=AMdlA 64,799,000& 64,799
Oko=ss SEAEIA 61,032,000& 61,032
OLEs SIIIJALMEIA 1,879,000& 1,879
OAASE oA 2SN A2Y 129,660,000& 129,660
Ok AMESXNEAY A & us 24,0003 24
O At 2SS XA HHEH 7L 450,000& 450
O QA 2SXNEAY W= 426,000& 426
OQIZtel & L olAIS &8 S X & At 430,413,000& 430,413
Ok A 2SS X AY =D& dzelg el
29,172,000& 29,172
O3 LA FHHWE =& 1,000,000& 1,000
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Okolgs2x)l NIAY 4,500,000& 4,500
OEZAE 24 Gt El ALY 52,213,000& 52,213
OMM=A=XAE HE= 155,035,000 165,035
OMIt=A X2 Al AA 102,000, 000& 102,000
SeEAX F2UAESANE 29 8,235,000& 8,235
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16,236,000 16,236
OSHEY S=Sod SE0IAY AIAHE 2= 3,960,000& 3,960
OXESALEEH AL 2 3,600,000& 3,600
OXESALA doi 28 It 3,976,000& 3,976
O =S At 2OUIOIE 2l 5,572,000& 5,572
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2 520 Al - SHIEEXES S
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OBMEBAL =EXE SIS
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-Hd=8 Y 2,000,000& = 14 2,000
301 LB A F 10,810 9,575 1,235
09 AL HIZB &S 10,810 9,575 1,235
O8sg =84 10,810
-ANEEEH =20 B4 70,0002 = 289H 1,960
—AgE g 20 2o
35,000& 30 1,050
-—SAE 7Y 7,000& ~ 1,000 7,000
-% 22,882 € 7€ 4,000& * 200M E 800
M3 =X X 2,722,138 2,583,999 138,139
= 1,180,847
< 406,154
Al 1,135,137
ASI =X 2483 (SHIEX) 292 0 292
< 292
301 et a s 292 0 292
< 292
09 HALAHIEA S 292 0 292
OMoli = QILEHX w=3d X& 292
< 292
ASIEX 23 (RMHE) 284,393 286,870 N2, 477
201 et 24,503 24,460 43
01 At 22/ 21,920 14,020 7,900
O8ZJIY Ye, B X
30,000& = 1003l 3,000
O=2XNAMElA s23T £ 500,0008 * 23] 1,000
O¢XE XNDASSEAHE L2t
15,000& * 1008 1,500
O (Bs)XE M
10,000& = 1008 * 4% 4,000
OAt2lSXIgel 2te|eth A &2t
30,000& * 508 1,500
OAt2l=Xge HRIHLNSE IAMN =2
400,000& = 23| 800

_3_




H X
>
=X|
s

3l
=

[ =Xl
| = X

=l
3

At
At

L=}
el

X ZH -

{ 3 318 818 2 2
- S o | ® S| © ©
N © o [ — —
o : b
E
E=]
= 3 318 3 SHES] 318 3
[e6] (<o) ™ o (ep] o o o o (]
= © o |o = o |o 6 | < =
_I_A_un—- [aV) [aV] ™ [ep] m m
[e]
m<l
RS
S & S S &8 3 S X3S 3183|888 888 8 8 8 3 1388 8 8 88|88 8 8 8 I 3 2
L~ 5 S & S © ®» © o|m |0 S S X B O ANDB© ®» »H|ISIES S SOINIES S S SN S ©
0] — — o 0] o w <t o) Ye) (ep] — — — ™ o o o o © < < o0} © o [aV] — —
=
o
<
=
g% @ % ® B @ @ 3
* n.”_ * * m 4*I ¥ * * Mu
o g Z= = L 7 o a0
0 oS M o — o - D o o <
S o ar < 0] — o} S ¥ =
B < 8 * oF * 3 x 1 < * Nro__,w
8 s w4 A * 3 - o+
D ® o ﬂ:m_.v_ ) mw_ 5 %) 001 _
a S M8 S w8 g e ¥ g
= Q Mg Mo 0 = 5 Kooz ®W S
”=_| - - S 0 — ™ KF R R o .
= t+ - = 5 _ - 0
) 0 = = 30 OF O mal
—_ o ol o K E ] W o
= - - = oF W =R W o
o KH o - KF al 'K K = .
- —_ = & _ U K = =
o o H0 3l = K L s K 3l
) R = oo 3 ) o
2 r a1 T o 3 = R OK0 oF oF 0 ol T o
- o ol o) & ol S R K RO o o< A0
Rl ol = Z|s |3 W R0 ZaOW oM OA S =z =
K0 O O Ol s |m O O O <= O O O O w5 O
. [aN) — [ap) [0)]
H m o o o




AN ARSI
M AYEXNSHEH

Sl ME=X B (S &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
302 OI=L Mo 2 &3 20,000 20,000 0
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AN ARSI 0
Mo LoI=XEX
Sl To=TAE BB CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Lo=xsa 92,897,098 90,843,680 2,053,418
= 55,615,761
< 6,786,748
Al 30,494,589
LO=ETANE &5 2,653,000 3,731,000 A 1,078,000
= 36,500
< 33,250
Al 2,583,250
LOQAANLEF(OIsEY) ALY 88,000 15,000 73,000
= 36,500
< 33,250
Al 18,250
402 RI2EX 20| ™ 88,000 15,000 73,000
= 36,500
< 33,250
Al 18,250
02 QI 2 AL EZ (O TH ) 88,000 15,000 73,000
O22A= HZ28 SSHEIE MHE=HI 15,000
= 15,000
OLQAANEEFS(IIsEY) AL 73,000
= 36,500
< 18,250
Al 18,250
CoSTAE SES(XAMMA) 565,000 1,582,000 A 1,017,000
401 AIEHI L 20 10,000 60,000 A 50,000
01 A& HI 10,000 60,000 250,000
O&dFLo=EX3sl2 HE> 10,000
402 RI2EX=01 M 555,000 478,000 77,000
01 2IZEH 2 A B (KM ) 555,000 478,000 77,000
OZ2E ¢= 200,000
OZ2g M=+ 330,000
Ofz2Zd2Ag Jls:2Z 25,000
-—AnE =4 1,500,000& * 100H £ 15,000
- dolASEASEINZ SFEIZAFY JIsE
& 10,000
NRLASE=ETR MU= 2,000,000 2,000,000 0
403 MHXISHHE X201 E 2,000,000 2,000,000 0
02 SO 2SO HSHAHE X OH e At H 2,000,000 2,000,000 0
OMELosg=ENa HE 2,000,000
LOI=EXAE 2l 5,824,057 5,791,473 32,584
= 256,168
< 1,106,733
Al 4,461,156
Z2E Wity ¥ 224 XA 2,028,591 2,016,544 12,047
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IEDEE
oI= X|AlE

HoH >

2t 2

- _ _ RE]
CEB - HS(3H) - HBAY - B Ol At o ﬁ}lgﬁ HRE2
= 256, 168
= 434,448
Al 1,337,975
307 2iz2to| A 2,028,591 2,016,544 12,047
2 256, 168
= 434,448
Al 1,337,975
10 MM SAANEEHESIHEX 2,028,591 2,016,544 12,047
O3 29| < 1,003,920
& 50,196
Al 953,724
ozz% bl 806,411
= 201,603
& 302,404
Al 302,404
oz3=zE 2 56,000
= 14,000
< 21,000
Al 21,000
oz3z¢ 24| X 162,260
= 40,565
& 60,848
Al 60,847
F & ety =24l X2 (XA HS) 252,032 289,430 AN 37,398
201 LBt 24,750 24,300 450
02 z=2249% 24,750 24,300 450
o3z 45,0002 = 55004 &~ 24,750
307 QI2t0| & 203,882 241,730 N 37,848
10 A SAANEEHESIGHEX 203,882 241,730 N 37,848
oZ&dz¢ S (XEAMITHS) 192,192
o3z KUK 11,690
402 Q12+t A 23,400 23,400 0
01 QIZ2HXHE (XA THS) 23,400 23,400 0
oZdze NES)| B2 23,400
2AZAY 29H| XY (EHEX) 80,375 80,375 0
& 32,150
Al 48,225
307 QI2t0| ™ 80,375 80,375 0
&< 32,150
Al 48,225
11 ALE 2 X AF 80,375 80,375 0
orsd H XI(0I&™HL) 80,375
< 32,150
Al 48,225
2EZ2AS 29H| XK (KHMHH) 608,825 608,825 0
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CASXAIE SAA K& 468,000 468,000 0

234,000
Al 234,000
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307 glztol & 468,000 468,000 0

= 234,000
Al 234,000

1A SXAIE 2 = 468,000 468,000 0
OLQ=XAE SAR =M HA)
468,000,000& 468,000

234,000
234,000

= M

Lo=sx 5 75,639,132 73,294,094 2,345,038
52,322,448
4,548,231
18,768,453

= N W

LoSX g43(ZHEX) 164,400 127,000 37,400
63,450
100,950

= N

301 LEE A= 122,500 107,400 15,100
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Al 84,000
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Al 84,000
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2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Osz0Z2d &3J X
50,000& = 50H « 13l 2,500
< 2,500
307 ©12+OI & 41,900 19,600 22,300
< 24,950
Al 16,950
05 RIZIRI & 3 20,000 0 20,000
OEZNZ4 F=H&Ed HeAd
500,000 * 407t 20,000
< 20,000
11T M SXAIS EX 21,900 19,600 2,300
OLol oHY DS 8,000
= 3,200
Al 4,800
OLQl GiJHd8 Z2AlY 1,150,0008 * 102 11,500
< 1,150
Al 10,350
O%nYe NHEseY 29
200,000& » 120w 2,400
< 600
Al 1,800
LosX 24 (AMMRE) 184,634 177,270 7,364
201 £B-2d| 10,370 8,570 1,800
01 At 22l 10,370 8,570 1,800
OZ2Y 2IJs s =&
70,000& * 7 « 33l 1,470
OANZEUAE 2 =24 3,000
Ok2Ae 2SN S ANHEZ=H EE2= ME 2,000
OLABTG 2aME AN
300,000& = 7CH 2,100
OS2 REFZAY LA8AIL X2
cl =2 S 150,000& » 12& 1,800
203 YR =] 5,000 10,000 A5,000
03 AIBZ=XH =AY 5,000 10,000 A5,000
OLe=R AI#Z=A HRFAH| 5,000
301 L2 A= 132,600 129,600 3,000
01 M2I2EZE 406z 75,600 15,600 60,000
O4Mt &a=4+¢ X
30,000& = 30 » 123 10,800
OL=QIOtE M CHRI 2 (REAITH &)
60,000& = 1,000H 60,000
OIS A eyl 4,800
ECERE 57,000 57,000 0
OSYE 2T AL
3,000,000 * 190 A& 57,000




AN ARSI 0
B Co=X 5
o2l L o=TX] %7& (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
307 2Iztol ™ 36,664 29,100 7,564
11 AISI S XA E = 36,664 29,100 7,564
Os2A= 028 ZSHEINE X
300,000& * 14 + 12& 3,600
OXNIGSAXNER SAES = 30,000
OLQl3Xla MEEH(MY) 2Y 3,064
x=3a Xa 74,746,354 72,448,356 2,297,998
= 52,322,448
< 4,484,781
Al 17,939,125
301 L2 A3 74,746,354 72,448,356 2,297,998
= 52,322,448
< 4,484,781
Al 17,939,125
01 Al EE M =56l = 74,746,354 72,448,356 2,297,998
OJI=d3a Xa 74,746,354
= 52,322,448
< 4,484,781
Al 17,939,125
SOolAlE, M XA 543,744 541,468 2,276
307 2Iztol ™ 543,744 541,468 2,276
03 RIZIEHMEH2EHIEX 75,736 113,200 A 37,464
ous=elg daAlXIz 29l 43,472
otgt=els oAz S8s 23 22| 32,264
04 DI2HHALALSE E X 20,800 14,000 6,800
OHM218l =l & & B2 & A 14,000
OM73 Lol dt2e=XZ 3l 2,800
OHM273 =ClHOIE= e 4,000
05 RIZt2IEt = 10,000 10,000 0
OANEUHAE 24 10,000
11 AS S XAEE = 437,208 404,268 32,940
OMItZB AL Q1 AAMEHE ALY 97,000
OZ2e 43 A 197,000
okeolthsr 29 86,608
— (AN st =015 Xl 8l 36.608
—EFMLE 50,000
OMIoqM THauy 2SS HSALY 35,000
OMFEOMS X0l Y28 E MY 8,000
OZ2E3d Hetos 52 WsXJAAS 13,600
Lol MAerd X 8,780,909 8,027,113 753,796
= 3,000,645
< 1,098,534
Al 4,681,730




AN ARSI 0
Mo LoI=XEX
Sl Lol MY X (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
LoEsSIIEMEBIAME XA 1,419,002 1,056,019 362,983
= 993,303
< 127,710
Al 297,989
307 gl2tol & 719,995 539,899 180,096
= 503,997
< 64,799
Al 151,199
11T M SRAISE EX 719,995 539,899 180,096
Oko=E=sE JlE MilA 719,995
= 503,997
< 64,799
Al 151,199
308 XXM SOIA 699,007 516,120 182,887
= 489,306
< 62,911
Al 146,790
10 SII 2SOl CHetZ & = O & A& I 699,007 516,120 182,887
Okolss 88 MHlA 678,133
2 474,694
< 61,032
Al 142,407
Okoss HIIIJtAF MHIA 20,874
= 14,612
< 1,879
Al 4,383
Colgiiel & A ESKE =i 3,933,900 3,478,639 455,261
= 1,966,950
< 590, 145
Al 1,376,805
101 14l 864,000 864,000 0
= 432,000
= 129,660
Al 302,340
04 JIZtHZ22HEE = 864,000 864,000 0
OAIAY LolAS 2SXN3AY 2 864,000
= 432,000
< 129,660
Al 302,340
201 £B-2%| 158 158 0
= 79
< 24
Al 55
03 A2 Z Hl 158 158 0
OLQIAS S XA LA 2 W= 158
= 79
< 24
Al 55




S A2EX
Hu: Lo=XEA
el Lol Moy X (e mg)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
206 M = Hl 3,000 3,000 0
= 1,500
& 450
Al 1,050
01 X2 H| 3,000 3,000 0
OLQAMIESKAY HSHH 2L 3,000
= 1,500
= 450
Al 1,050
301 et A= 2,842 2,842 0
= 1,421
= 426
Al 995
09 HAIAHIBEAZ 2,842 2,842 0
OLQoMIESSXNIANYE U= 2,842
= 1,421
& 426
Al 995
307 2Iz2t0| & 3,063,900 2,608,639 455,261
= 1,531,950
== 459,585
Al 1,072,365
11T A EXAIEEX 3,063,900 2,608,639 455,261
OBIZtAE L OIAISESXHAIS 2,869,420
= 1,434,710
=} 430,413
Al 1,004,297
OLQAMIESSKNIIAY =D o1AHH|
1,360,000 = 13% * 11& 194,480
= 97,240
= 29,172
Al 68,068
ColTIE] Y A ESX Y SO (XM ) 94,991 94,991 0
307 giztol A 94,991 94,991 0
11T A EXAIEEX 94,991 94,991 0
QOIZIAE L OIAISIES XA (XHMHE) 94,991
LolFHEs X (EHEX) 154,000 154,800 A 800
o 38,500
Al 115,500
301 et A= 4,000 4,800 A 800
= 1,000
Al 3,000
01 A& A 2523 4,000 4,800 A 800
OFRAMS U FHE WEEHHH|
500,000& * 8YH 4,000
= 1,000




AN ARSI 0
Mo LoI=XEX
Sl = MAotE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 3,000
307 12+l & 150,000 150,000 0
< 37,500
Al 112,500
10 ALl SXAIEEE2EH EX 150,000 150,000 0
Ok gReldEE NIME 23 150,000
< 37,500
Al 112,500
CoFgas KNE(KMME) 300,000 249,000 51,000
307 21201 A 300,000 249,000 51,000
10 ALSISXAIEEE2EHEX 300,000 249,000 51,000
OAlLIVZY 2¢ 300,000
LolgsSERIIXI ALY 15,000 14,100 900
= 4,500
Al 10,500
301 et A=z 15,000 14,100 900
< 4,500
Al 10,500
01 AR 2Z A 53 15,000 14,100 900
Ookogs2xI| A& 150,000& * 100 15,000
< 4,500
Al 10,500
EZ A= (24 QA S0l AMY 130,532 146,000 A 15,468
= 52,213
Al 78,319
301 et d = 130,532 146,000 A 15,468
< 52,213
Al 78,319
01 MEIE2EZE 406z 130,532 146,000 N 15,468
O22A= HZ24 HM &l AHY 130,532
-232E & 400& * 850 * 3652 124,100
< 49,640
Al 74,460
- SFUXA 536,000& = 12& 6,432
< 2,573
Al 3,859
MOt =XAE 29 2,652,700 2,752,780 A 100,080
< 265,270
Al 2,387,430
301 et a = 2,652,700 2,752,780 A 100,080
< 265,270
Al 2,387,430
01 MEIBEE 53 2,652,700 2,752,780 A 100,080
OMIMIE=QEXNAE S HES 1,550,350
< 155,035




AN ARSI 0
Hu: Lo=XEA
el wol MNoE KR CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 1,395,315
OMI=IX& Ml A
170,000,000& * 6H £ 1,020,000
< 102,000
Al 918,000
OS=2X FUESAE 29 82,350
= 8,235
Al 74,115
SAHL0 ST SSAHELB ML 2 XA( 80,784 80,784 0
Jj22gl)
= 40,392
< 20,196
Al 20,196
307 glz2tol & 64,944 64,944 0
= 32,472
< 16,236
Al 16,236
11T M 2XAISE EX 64,944 64,944 0
OSHE - H0He S22S¢4d SE0/AY 2 64,944
= 32,472
= 16,236
Al 16,236
401 AIEHI L 2CHYI 15,840 15,840 0
= 7,920
< 3,960
Al 3,960
01 A& HI 15,840 15,840 0
Ok SSed S2E0IAY AIA"E 2= 15,840
= 7,920
< 3,960
Al 3,960
AHEAS A 2el 377,510 302,668 74,842
= 34,282
< 13,148
Al 330,080
NESAEM 24 60,000 60,000 0
A SAEH K& 60,000 60,000 0
307 21201 A 60,000 60,000 0
04 QIZFHALAIRY B = 15,000 15,000 0
OX2SAL StOtSCHEl & AtYI 15,000
11T MISRASEEX 45,000 45,000 0
OIS AL I & 30,000& * 1259 = 12& 45,000
&S AHLE 243t 317,510 242,668 74,842
= 34,282
< 13,148
Al 270,080




AN ARSI 0
M TG SA 2tel
el U SAHHE 24835t (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
A SALEEH 2l (SHIEX) 12,000 12,000 0
< 3,600
Al 8,400
201 £B-2d| 12,000 12,000 0
< 3,600
Al 8,400
03 A2 Z Hl 12,000 12,000 0
OXNJASALEEH &AL 29 12,000
< 3,600
Al 8,400
K2 SAHEE 2l (KX 107,150 77,720 29,430
201 LBt 61,700 57,320 4,380
01 At 22l 56,660 52,280 4,380
OXNESAHH JI=MRES 10,800
OXNESAtWE 2 AH] 200,000& =« 403l 8,000
OXNZSAEEH 2dAJ¥ Y
70,000& = 19¥ « 23| 2,660
OMEINR 52 2 022X 34
7,000& * 798 = 100 4,900
OXNASAHHE Xt X
800,000& * 20H = 12& 19,200
OSMSAS D (Y3 2SS YT
800,000& = 23| 1,600
OXNZSAHEH E28 M
1,000& = 4,0000H 4,000
OXNESAA Jlsus WM M=
2,000& = 1,000% 2,000
OHENAZNHSY 425 7
80,000& = 20EtX 1,600
ONJASAHEEH AJA ZWU2RAI]| AERIB
40,000& = 123 480
OXESAEH QHYE AEE
25,000& = 12& 300
ONASANFHEH B M=
180,000& * 40 A& 720
ONASANEZHEH 215 FE M
100,000& * 404 2 400
02 =224l 5,040 5,040 0
OIS ALHE A3l 720
OXNESAHEH XHE SFHl 4,320
202 Odl 11,850 10,800 1,050
01 =S LHA YI 11,850 10,800 1,050
ONJASAEEH XA HEES 0l
180,000& * 59 = 128 10,800
ONJASAHEE A s Ol
150,000& * 79 1,050
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R XNEANHEH 2435 (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
301 Bt A= 33,600 9,600 24,000
11 JIEtE A= 33,600 9,600 24,000
OXNLEANMAH(BE)SALA 22242
9,6008 * 14 ~ 250 33,600
NIASAAN 1= 45,630 14,850 30,780
201 et d| 4,400 3,600 800
01 AFR 2t 2| H| 1,400 0 1,400
OXNEEAMEH 2 N &I SEH|
200,000& = 7H4 1,400
03 HAI2 G HI 3,000 3,600 A 600
OXNEESAI HEHEH M A
60,000& * 50¥ = 13| 3,000
202 044l 1,600 1,600 0
01 2L I 1,600 1,600 0
OXESANYE2E=A o] 1,600
301 LBt A= 7,130 9,650 A 2,520
09 SHAIAHI B A2 7,130 9,650 N 2,520
ON=2Y T NFEAMLN NREI BAS
25,000€ = 50 1,250
OHdRZEAMNI & & 3o EFAX SAH|
7,000& * 85H * 43| 2,380
OXNSESALAH AR2X3 9 EAX 54|
7,000& * 100 700
OSHMEANE SAIE2ES 24|
7,0008 * 150 * 23| 2,100
OXNSESAHEH H2ns2A 24|
7,000& * 10 = 103/ 700
401 AlEHIZL 2 0HY| 30,000 0 30,000
01 Al&H| 30,000 0 30,000
OXNSESAIHEH AIR24A cl2dal Z A 30,000
405 XHAHFE S HI 2,500 0 2,500
01 XA 2B F S| 2,500 0 2,500
OX2SAHEH 94 HCO ZT2ME 2!
2,500,000& = 1Al 2,500
d=2 S8 N2AIEE It AdHlA X 26,508 30,752 N4, 244
= 13,254
& 3,976
Al 9,278
307 giztol A 26,508 30,752 N4, 244
= 13,254
& 3,976
Al 9,278
06 282 26,508 30,752 N4, 244
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M TG SA 2tel
el U SAHHE 24835t (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OX&SAZRCIHIOE N& 26,508
= 13,254
< 3,976
Al 9,278
NASAL EH3E ALY 62,000 45,000 17,000
307 glz2tol & 62,000 45,000 17,000
02 HAHFHAANGEEE 42,000 25,000 17,000
OXNZSAEMES AEH X2 25,000
OXNZSAEH & A= 12,000
OXNZSAH HE At H XI& 5,000
04 DIZHHALALSE E X 20,000 20,000 0
ONESALE=H Al XI& 20,000
NASAI2CIHOIE XNAAL(ZHIEX) 42,056 42,056 0
= 21,028
< 5,572
Al 15,456
101 @124 dl 42,056 42,056 0
= 21,028
< 5,572
Al 15,456
04 JIZHHZ2XREE S 42,056 42,056 0
OXESAH 2LOIUIOIE 2| 42,056
= 21,028
< 5,572
Al 15,456
TN SAI2CIHIOIE XA (KR &) 22,166 20,290 1,876
101 @14l 17,846 15,970 1,876
4 0I2ZtHZ22EE = 17,846 15,970 1,876
OXESAL ZOUIOIH A2t 4,846
—ws, #& ACUOE
10,0953 = 2% = 20A12t = 128 4,846
OX2s8Ar ZLIUIOIE 4UHIEE 2 (R2E2) 7,000
OXESA ZOUICIE E&S
3,000,000& * 29 6,000
202 oddl 4,320 4,320 0
01 = LH o4 1l 4,320 4,320 0
O SAH 2LIUIOCIE AA HEES 0l
180,000& = 2 = 12& 4,320
MEIASH MEH 2= 1,404,404 1,097,110 307,294
= 708,713
< 95,695
Al 599,996
sla=EX XA 1,404,404 1,097,110 307,294
= 708,713




OARI=S X
CABIAGEH MA 2E
D E=EX N

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
< 95,695
Al 599,996
==X 571,950 ,000 A 28,050
= 457,560
< 57,195
Al 57,195
301 L= 571,950 ,000 A 28,050
= 457,560
< 57,195
Al 57,195
01 MEIEBEZE+06l= 571,950 ,000 A 28,050
Oz2s=X XA 571,950
= 457,560
< 57,195
Al 57,195
FINE MAHATS 154,000 ,000 14,000
301 et a3z 154,000 ,000 14,000
01 MEIBEE 263 154,000 ,000 14,000
OS0S MAHRSHl K& 154,000
SSSNEEHA HE(=2REX) 19,566 ,000 A2,434
= 9,783
Al 9,783
201 Let24dH] 3,166 ,600 AN2,434
= 1,583
Al 1,583
01 At 22/l 3,166 ,600 A2,434
OsgAd2el 29 3,166
= 1,583
Al 1,583
301 L2 A= 16,400 16,400 0
= 8,200
Al 8,200
01 MEIBZE+05l= 15,400 15,400 0
OArddl2tel At I 15,400
= 7,700
Al 7,700
09 SAAHIE &S 1,000 1,000 0
OAtellZtel Al AL & 3ol & A 2 A 1,000
= 500
Al 500
SS=XNEEMA HA(RMHE) 12,050 0 12,050
201 L2l 11,000 0 11,000
01 At 22l 11,000 0 11,000
OXEg=NE 1,000,000& * 11002 11,000
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X ZH
S =

Alel =X ot

S|E=X XN

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
301 gt L= 1,050 0 1,050
09 HALAHIEA S 1,050 0 1,050

OXNGASEZEANM |d XFSE=X A=K
o #IXIor2 21,000& = 509H 1,050
SESAtd 22 K& 100,800 24,000 76,800
= 70,560
Al 30,240
301 et a3z 100,800 21,600 79,200
= 70,560
Al 30,240
01 MI2ZE 6= 100,800 21,600 79,200
OsSHsSAtdl2el XI&bl 100,800
= 70,560
Al 30,240
FEOHA 29 69,650 69,650 0
307 izl & 69,650 69,650 0
11T MIZSXASEX 69,650 69,650 0
OZE0r 24l X 69,650

S At 22l AL RI & 151,620 146,760 4,860
= 75,810
Al 75,810

101 1A Hl 151,620 146,760 4,860
= 75,810
Al 75,810

40|12t Z2HEE =+ 151,620 146,760 4,860
OSEAtdI2tel Ab el 2| 151,620
= 75,810
Al 75,810

NEAEHEAM 22 KNI (ZHEX) 88,172 70,700 17,472
< 6,000
Al 82,172

307 gl2tol & 88,172 70,700 17,472
< 6,000
Al 82,172

11T ALS S XAEE = 88,172 70,700 17,472
OXSABEHEAM 2 N 88,172
< 6,000
Al 82,172

NSEASEEEAM 2 NI (XMHE) 21,500 10,500 11,000
201 LBt2d| 21,500 10,500 11,000
01 At 22l 21,500 10,500 11,000

OEZEAM 3o FAH
70,0003 = 259 « 63l 10,500
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el

X ZH
S =

Alel =X ot

S|E=X XN

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Osgs EFEAM 9 2N+
20,000& = 4009 8,000
OSNS SXAMAXNN Y=+ 228 A
1,000& = 3,0000H 3,000
2 SIUA=SEC A=A 8,000 13,500 A5,500
< 4,000
Al 4,000
201 £B-2dH| 1,000 2,100 A 1,100
< 500
Al 500
01 At 22l 1,000 2,100 A 1,100
OZg slLSEeREANY 29 1,000
< 500
Al 500
301 L2 A S 7,000 11,400 A 4,400
< 3,500
Al 3,500
09 &AL HI B &S 7,000 11,400 A 4,400
OS8s slLSEe2EAY 32l 7,000
< 3,500
Al 3,500
NE=SRNEHAEH2IRA 17,096 0 17,096
101 @124l 17,096 0 17,096
04 JIZHHNZ2XNSE+ 17,096 0 17,096
ONE=SXNSHAHE SEAAZ2CIA 14| 17,096
-Jl2s 51,760& » 250 12,940
- Resdsd 51,760& * 523 2,692
-4 B8 1,464
ROt SXNMHIA FEXA 190,000 0 190,000
= 95,000
< 28,500
Al 66,500
405 RHoHE S HI 190,000 0 190,000
= 95,000
< 28,500
Al 66,500
01 et EFFHSHI 190,000 0 190,000
OX0tIte EXNAMEIA XS 190,000
- ™I XH(6OH) 126,000
= 63,000
< 18,900
Al 44,100
- Jt &2 XH(50) 64,000
= 32,000
< 9,600
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Alel =X ot
MEIASAA MH 2=

el 3Y=EX N (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| [ A 52,400
e =SS5 30,784,613 29,420,067 1,364,546
= 16,543,216
< 2,985,804
Al 11,255,593
ZOUH=EXNAE &5 548,804 770,216 AN221,412
= 23,202
< 111,600
Al 414,002
FOUAA=AIE JIsEH 15,954 195,608 A 179,654
= 7,977
< 3,988
Al 3,989
402 2I2H X201 M 15,954 195,608 A179,654
= 7,977
< 3,988
Al 3,989
02 QIZEH 2 A EZ (OIS ) 15,954 195,608 A 179,654
OstitSstd JIs22 A (e d &) 15,954
= 7,977
< 3,988
Al 3,989
NREZU=XEH A 300,000 0 300,000
401 A& HIZ 201 Y] 300,000 0 300,000
01 A& HI 300,000 0 300,000
ONSZHAZXME A8 J2a) U s
Z93d| 300,000
EZSEMe NHEE N (ZHEX) 200,000 0 200,000
S 100,000
Al 100,000
405 XHoHF S HI 200,000 0 200,000
< 100,000
Al 100,000
01 AL EZFH S 200,000 0 200,000
OZTHMY UHEHE Y 200,000
= 100,000
Al 100,000
ESTC NHHE XS (KM 2,400 0 2,400
402 RIZ2EX20l A 2,400 0 2,400
01 U2 EALE X (XA R) 2,400 0 2,400
OE3&M HesE JIsE2d 2,400
ZOHQARATHEALE JIsSES 30,450 0 30,450
= 15,225
= 7,612
Al 7,613
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 BI2FX=01 M 30,450 0 30,450
= 15,225
< 7,612
Al 7,613
02 QI EAILEZ (01X S) 30,450 0 30,450
OMNot=dH JISELAS(HHIEL) 20,000
= 10,000
= 5,000
Al 5,000
OZet JIsEZAM (ZHEZ) 10,450
= 5,225
< 2,612
Al 2,613
ol SEXSH 11,347,994 11,155,448 192,546
= 5,116,605
< 1,056,948
Al 5,174,441
He =XSH 27,100 28,100 A 1,000
201 £B-2d| 26,100 26,100 0
01 At 22l 26,100 26,100 0
OHMA=XAH 22X ME
1,000& * 2,5000H 2,500
OXOHARS X AEIH ME
1,000& * 4,00004 4,000
OZEZMeME B3
8,000& = 340H » 42| 10,880
OFHAH HAXH X L=
500,000& = 4CH 2,000
OZOe EsXd yozg gF3A = 6,720
301 et d = 1,000 2,000 A1,000
01 MEI2ZE+05l= 1,000 1,000 0
OSsHM dsEHM0 A23H X
200,000&  59H 1,000
oHe! EsXE=H X& 8,036,918 8,404,680 A 367,762
= 5,084,882
< 962,891
Al 1,989,145
307 glz2tol & 772,800 763,800 9,000
< 309,120
Al 463,680
11T M SRASE EX 772,800 763,800 9,000
OXFe 2=sXN230 XN (ZHIAY) 772,800
< 309,120
Al 463,680
308 XXIEHH SOl A 7,264,118 7,640,880 A 376,762
= 5,084,882
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14,033 0
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= N H

14,033 0
9,823
1,263
2,947

14,033

=z N H

14,033 0
14,033

9,823
1,263
2,947

14,033

329,728 267,728
73,264
256,464
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= M

8,728 8,728

4,364
4,364

H

Al

H

Al

= M

H

Al

8,728 8,728
3,292
1,646
1,646
1,956

978
978

2,400

1,200
1,200

1,080

540
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= H

321,000 259,000

68,900
252,100

62,000
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11T MIEXASEX 321,000 259,000 62,000
OFOHer st SsAY 26,000
= 10,400
Al 15,600
OAZZOHR JI=THE DS 5,000
< 2,500
Al 2,500
O=ZTMe HSMEXAHEH X2 (3MD) 290,000
< 56,000
Al 234,000
OOl KX (KAL) 92,123 89,440 2,683
307 21201 A 92,123 89,440 2,683
11T MISXASEX 92,123 89,440 2,683
OXNAZHS XNEANAHEH XA 92,123
X017 u: 12,500 12,500 0
= 10,000
Al 2,500
301 LAz 12,500 12,500 0
= 10,000
Al 2,500
01 MI2ZE 6= 12,500 12,500 0
OB=xJ|7 = 12,500
= 10,000
Al 2,500
SSHMHLY =HEE ML 10,000 10,000 0
< 3,000
Al 7,000
402 RI2EX=20| A 10,000 10,000 0
< 3,000
Al 7,000
01 U2 E2ALE X (KM R) 10,000 10,000 0
OZSTEHMY FHEZMEFAS 10,000
< 3,000
Al 7,000
HEZMe S4HEXA 17,000 14,000 3,000
= 11,900
< 1,530
Al 3,570
301 LetR &3 17,000 14,000 3,000
= 11,900
< 1,530
Al 3,570
01 AR 2Z A 53 17,000 14,000 3,000
OW4Ze sS4 ESXA 17,000
= 11,900
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= 7,530
Al 3,570
oI EMNENG X3 50,000 40,000 10,000
307 2Iz2t0| A 50,000 40,000 10,000
11 A EXAIEEX 50,000 40,000 10,000
O&ofeIxtg AN X 50,000
ZOHQ! OlsSmO XK (ZEHEX) 50,000 50,000 0
& 15,000
Al 35,000
307 2iztol & 50,000 50,000 0
< 15,000
Al 35,000
11T AISIEXAIEEX 50,000 50,000 0
OXFOQ HOAAIEX AL K& 50,000
= 15,000
Al 35,000
ZOoHe olsEo X (KHMIHA) 6,000 0 6,000
405 XHoHFE S HI 6,000 0 6,000
01 AL E B F S| 6,000 0 6,000
OFsSEETR 5 s8I &X
3,000,000 = 2CH 6,000
OIS XAIAE 22 6,428,991 5,889,238 539,753
= 3,026,499
& 735,116
Al 2,667,376
ZHOHQICHH K& 176,120 170,920 5,200
307 giztol & 176,120 170,920 5,200
02 QIZ2IA AAIE E X 10,410 0 10,410
OX Mool &It 3,000
OX=Z&0HS SSo=H =t 1,170
O &M JIsHItal &It 1,400
O3 & gsZdE4A &It 840
OAIZEOoel & X0l Y &It 3,000
OMET HZE2S A &I} 1,000
03 QIZIHEHAESIHIEX 97,520 93,320 4,200
OdYXNMEMAES 2oHAIXE &9 X 11,640
OdYE=s0telgs 2dHAAE 29 X 6,900
O3Y A MBMOEXS dHAXNE 9 A 2,880
OdgANAdEMI2XNASS LXK 29 X
2 5,100
OZEESHMES 2aAIXNE 28 K& 5,000
Ooxets HoelEX2 29 XN 66,000
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0y

< 373,059
Al 870,473

10 A SAAEHE2SEHIEXR 4,145,106 3,848,867 296,239
OFMAHFALE 22 (3 x) X 4,145,106
2,901,574

373,059
870,473

= N W

ZOHAHLTHEANE X 865,400 707,203 158,197
= 31,776
Al 833,624

307 glztol & 865,400 707,203 158,197

= 31,776
Al 833,624

10 A SXAEHE2EHIES 865,400 707,203 168,197
OZOHe HATHEAILE (40HL) 2 865,400

31,776

833,624
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ol
ol
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e
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o

178,464 164,736 13,728
124,925
26,769
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= W

307 21201 & 178,464 164,736 13,728
124,925
26,769
26,770

= N W

A S XA E X 178,464 164,736 13,728

OZSZZH Adlga o2 X 178,464
124,925

26,769
26,770

0

= mnH

ZOHASRAIE SAX K& 359,125 367,200 A 8,075

179,562
179,563

= M

307 glztol & 359,125 367,200 N8,075
179,562
Al 179,563

H

1A SXAIE E = 359,125 367,200 A 8,075

OZMASXAIE SARL =& 335,400
167,700
Al 167,700
OZOMAANFAIE SAX O 23,725
< 11,862
Al 11,863

in

FOHA=SRAIE LAaX K& 5,000 5,000 0

1,500
Al 3,500

H
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